[bookmark: _Toc286079798]S2 Fig.  Sample distribution of party identification.


 
[bookmark: _GoBack]Notes. N = 58. The figure shows the distribution of party identification in the sample. The 'Identification with Party' variable used in the main text has a value of 1 for Social Democratic Party Identifiers and a value of .5 for Social Democratic Party Leaners when the party sponsor is the Social Democratic Party and a value of 1 for Liberal Party Identifiers and a value of .5 for Liberal Party Leaners when the party sponsor is the Liberal Party. For all others, the value of the measure is 0. In the analyses used in Table A5, two measures of identification were formed: one for the Social Democratic Party (1, .5 and 0 for identifiers, leaners and neither, respectively) and one for the Liberal Party. The values of these were 1, .5 and 0 for identifiers, leaners and neither, respectively. 

Social Democratic Party Identifier	Social Democratic Party Leaner	Liberal Party Leaner	Liberal Party Identifier	Identifing with other party	Leaning towards other pary	Not identifing with or leaning towards any party	8.62	3.45	18.97	6.9	15.52	39.66	6.9	Percent
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